NG 2 IR 505 3 O ABSREOHR (£F)

(R mHM %)

FET-AT 205 214 224 234 245 25%E9H | 25%E10H | 25%E11H | 25%F12H 26%F1H 26921 AR A
7 X 5739 3,986 7,993 7578 2.799 137 163 133 120] r 130 110 153
(HTAEFEIH (H) k) (9.2) (A 30.5) (A 249) (A 15.5) (A 9.1) (A 29.4) (A 26.6) (A 28.1) (A32.2)|r (A 15.0) (A 28.1) (A 19.9)
EELT 7,589,847 7,122,990 775,593 640,007 533,042 32,933 37,717 37,006 22,622 T 33,506 27,350 30,779
(BTAEE (H) B (29.3) (A 29.4) (A 30.9) (A 17.4) (A 16.8) (A 32.0) (A 37.9) (A 11.8) (A 44.2) | r (A 2.8) (A 20.9) (A 20.3)
147D EE 4% 277.0 281.7 259.1 253.5 231.8 240.3 231.3 233.1 188.5| r 257.7 221.3 201.1
- 92 36 57 55 58 3 5 7 7 T 5 7
- 3005 PR (1.6) 2.2) (1.9) (2.2) (2.5) 2.2) (3.1) (3.0) (1.7) (3.1) (4.5) (2.6)
= B30 1,809 1,291 954 765 713 19 62 38 19 38 12 13
A ] 0005 Mo (31.5) (32.4) (31.9) (30.3) (31.0) (35.8) (38.0) (28.6) (40.8)| r (29.2) (38.2) (28.1)
4 (1,000 5L I 3571 2423 1,836 1,609 1,447 81 89 36 67 79 55 100
31 |5 00077 Ao (62.2) (60.8) (61.3) (63.6) (62.9) (59.1) (54.6) (64.7) (55.8)| r (60.8) (50.0) (65.4)
i 5,000 5 FIBL L 232 155 118 89 71 1 6 3 2T 9 3 5
¥ [3EMLLF (4.0) (3.9) (3.9) (3.5) @.1) (2.9) (3.7 (2.3) (1.7 r (6.9) (7.3) (3.3)
Jy— 35 31 28 10 10 - 1 2 - - - 1
= (0.6) (0.8) (0.9) (0.4) (0.4) (-) (0.6) (1.5) (-) (-) (-) 0.7)
I 70 36 71 6 20 1 1 = 3 1 = 1
TERL B K (1.0) 0.7) (0.6) (0.5) 0.7) 0.6) 0.5) (-) @.1) 0.7) () 0.6)
e 149 91 70 51 Y] 7 3 2 1 - 7 2
BLEESSEEEN @.1) (19) (19) (17) (15) 4.2) (1.6) (1.2) 0.7) (-) 3.0) (1)
5 R 3,619 2,730 2,056 1,727 1,580 93 106 84 74 85 70 97
e (50.7) (56.5) (56.9) (57.2) (57.7) (56.4) (56.7) (51.2) (51.4)| r (57.0) (52.2) (53.6)
[ Er——— 1,000 531 429 349 336 19 21 22 16 20 22 24
e RS L (14.0) (11.0) (11.9) (11.6) (12.3) (11.5) (11.2) (13.4) (1.0 r (13.4) (16.4) (13.3)
- 440 282 208 162 148 ) 14 14 6 1 6 12
?q'i 7L AR AT (62) (58) (58) (5.4) (5.4) 4.8) (1.5) (8.5) 4.2) @.7) (4.5) 6.6)
: B 240 121 78 60 35 1 1 3 2T - 1 1
¥ |BIEARSEBIEED T K (3.4) 25) 2.2) 2.0) (1.3) 0.6) 0.5) (1.8) (1.4)| r (-) ©0.7) 0.6)
L 109 61 31 27 26 2 1 - 1 1 1 -
i (1.5) (1.3) (0.9) (0.9) (0.9) (1.2) (0.5) (-) 0.7) 0.7) 0.7) (-)
- 288 126 76 58 46 3 3 3 7 3 7] 1
RIS (4.0) (2.6) @.1) (1.9) a.7n (1.8) (1.6) (1.8) (4.9) (2.0) (3.0) (2.2)
o 1217 852 644 569 507 31 37 36 34 35 26 10
(17.1) (17.6) (17.8) (18.8) (18.5) (18.8) (19.8) (22.0) (23.6)| r (23.5) (19.4) (22.1)
P 1175 968 657 614 543 37 17 33 79 27 27 35
= (20.5) (24.3) (22.0) (24.3) (23.6) (27.0) (27.0) (24.8) (24.2)| r (20.8) (24.5) (22.9)
P 739 523 425 370 355 22 31 25 21 21 14 22
1 oe (12.9) (13.1) (14.2) (14.6) (15.4) (16.1) (19.0) (18.8) (17.5)| r (16.2) (12.7) (14.4)
o 813 512 400 312 317 21 32 18 15 25 21 23
e (14.2) (12.8) (13.9) (12.3) (13.8) (15.3) (19.6) (13.5) (12.5)| r (19.2) (19.1) (15.0)
P 1,953 1,309 984 852 685 30 31 28 26 r 32 32 12
£ i (34.0) (32.8) (32.9) (33.7) (29.8) (21.9) (19.0) 21.1) @17 r (24.6) (29.1) (27.5)
o —— 493 313 261 188 187 12 12 11 14 16 ) 21
) (8.6) (1.9) 8.7) (7.4) (8.1) (8.8) (7.4) (8.3) (1.7 r (12.3) (7.3) (13.7)
TR 22 21 9 7 10 3 - 1 1 - 1 -
i e iR - AR 0.4) (0.5) 0.3) 0.3) 0.4) (2.2) () 0.8) 0.8) (-) (0.9) ()
% P 6 10 4 [ 7 I - - - - - 1
oh ©.1) 0.3) ©.1) (0.0) 0.3) 0.7) (-) (-) (-) (-) (-) 0.7)
RN 162 87 56 30 33 1 - 1 1 2 = 2
= (2.8) 2.2) (1.9) (1.2) (1.4) 0.7) (-) (0.8) (3.3) (1.5) (-) (1.3)
S 324 202 157 115 128 5 10 13 6 7 7 6
S A= (5.6) (5.1) (5.2) (4.5) (5.6) (3.6) (6.1) (9.8) (5.0)| r (5.4) (6.4) (3.9)
2o 52 3] 40 39 34 5 3 3 1 - = 1
(0.9) (1.0) (1.3) (1.5) (1.5) (3.6) (1.8) (2.3) (3.3) (-) (-) 0.7)
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